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5, 40+ 90=
8, 400+4+58500=__ & 600+ 300=

Add. Show your work.
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Moamizs

Subtract. Then solve.

0 0 0

3,

G 0 0

1,

O 0 0
9 3 6

5 0 G 0 8. 6,
5 8 6 2

7.

2,

C 6 0
3 8 4

8,

10.

7 0 0 5
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Mame: __ Daste:

i3. 1 s 0 0 D
- 7 2 &
, j ( What kind of pine
N ‘ | has the sharpest
2 neadles?
Help Jenny solve the riddle. O

o)

Write the corresponding letters to find out.

(363) (520) (3,818) {2,41%}
(3.064) . {5,676) (520) Ci 746)
(274) (3,537)
Solve. ghsw; your work,. #

14.  Mrs. Jones has 726 pencils.

She wants to give 4,005 children one penml each,
How many Tiore pencils does Mrs: Jones need?
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Mame: Bta:

Lesson 6.7 EVESIO:

Fill in the missing numbers.

1. X G = 72 2. . .XB=024
72+ 9= , 24 + 8 =

Drnde.

3. 56+T7=____ 4, 426 =

5, 64+8=__ 6 81 +9=

Solve. Show your work.

7. Each boat has 7 sailors.
Thers:are 63 sailors altogether.
Mow many boats are theré?
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B ame: Datae:

8. There are 48 children participoting in the math competition.
The children are placed in groups. Each group has & children.
How many groups ars there?

2 {4 :

9. Marco has 56 markers. He keeps 8 markers in sach box.
How many boxes of markers does Marco have?
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Hame: Dete:

ractice 2 Understands guatvasient Fructions
~ Example ~
Shade the part(s) to show fractions equivalent to %
Then write the fractions.
1
4 1
L ==
1
o
\ J
1. Shade the part{s) to show fractions equivalent to -1-.
. . 3
Write the fractions.
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Fill ins the missing numerster or denominater.

Mame:
1

3

5

7.

b




